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Question Type: | MCQ

26gaIg 919 X 9e° Y @ 1 g 6aei 1kg 6069 99916 96 DRIFEd 996 996 A

Question: ¥Ie° B 926 @aI0iag | A 96° B @ 20166 29597 | 2gaIe sasIeg 1:4 | X
Ye° Y @ 6FIRIR @26 AUl 6963 :

A: 1:4

B: 1:0.25

C: 1:0.20

D: 1:5

Topic: Chemistry-Section A

Iltem No: 63

Question ID: 1569463

Question Type: | MCQ

ARG goFal (a). (b) ¥e° (c) QI 2I6AIFINSTAR ol 6208 C2ligss
K, K, 9e°K,, |

(a) H2C;04 = H™ +HC,04

Question: B o
(¢) HyC,04 = 2H™ + C,05~
K, Ka, 99° K,, 9660 QI a¢ta Ga1a198 98ad:
A: K;13 = Kal + Kaz
B: Ka3 = qu o Kaz
C: Ka3 = Ka1 Kaz
D: Ka3 = Kal * Kaz
Topic: Chemistry-Section A
Item No: 64
Question ID: 1569464




Question Type: | MCQ

10 661 @ 20 mL NaCl 94l 9@ 08qIZel 6wi9a 6rllnla aaei@e seed A,

Question: \1@° 20 6911 @ 80 mL NaCl 9941 @ 6208 A , 112 @atale 6918 6@%198S)
oRaIel c2e aniel A, ¥e° A, §56a Atte 6208 :

A: Amz = 2!\“]1

B: Amﬂ = Am1 ";2

C: Anﬂ = Anﬂ

D: Am'.l = 4Am1

Topic: Chemistry-Section A

Item No: 65

Question ID: 1569465

Question Type: | MCQ

CIPEAR G106 U9 GEl9 699 98 96w 0F 7
A. CI9sAR G106 1% GIO68T gaIR! |
Question: B. FIg6AR G106 e Glaesial gaiq |

C. lse/d 08ees JoIae |

D. \l6g/d 0ees Ageias |

A (A.D) cmaw

B: (A. C) eaam

C: (B. C) c@a@

D: (B. D) 6a9@

Topic: Chemistry-Section A
Item No: 66

Question ID: 1569466

Question Type: | MCQ

Question: Be. B. N @° O @ 92§l 262RInss9q Uaeind gow 2gaed a92/Ql 97 ¢ 6268 :
A O<N<B<Be
B Be<B<N<O
C: B<Be<N<O
D B<Be<O<N

Topic: Chemistry-Section A

Item No: 67




Question ID:

1569467

Question Type:

MCQ

GER 995 08 QUINS :
28 I: 96ra 2l § 9F $96! g2l 986 Adia o f6m Il gl 6w |

Question: ——_— »
@@ II: T4 g2 A FI9F 2°A L6 @l OIf A6ATIFS KUER @6 |
QUCRUS 03 ARIES. §¢) IaT FrIQ A0 Cas Q193 |

A: eeg 9@ [ 9e° 0@ II Ox 26s

B: eee 28 1 9e° 9@ I O 6% |

C: 28 10w @3 9@ Il 97 26T |

D: e8] gn @5 98 II O 266 |

Topic: Chemistry-Section A

Item No: 68

Question ID: 1569468

Question Type: | MCQ

Question: 2% §01ge (>99.95%) CIRgIRN6eIsas F6w,

A FER SR ANDIN 926 9ETAS |

B: Ak SR TR 99499 L19LIQ 97 PENER NG K4Sl FIal |

c. cIarl aRld 69540 TNELIFING 994 § Fean giag S06a PENETINAA QA
Il |

D: @ 6 e A 986 9eFg! |

Topic: Chemistry-Section A

Item No: 69

Question ID: 1569469

Question Type: | MCQ

Question: f9Q 9 909 |91 6TeE
A Be>=Mg=Ca=>5r

B Sr>Ca>Mg>Be

C: Sr>Be>=Mg=>Ca

D Be=5r>Mg=Ca
Topic: Chemistry-Section A
Item No: 70

Question ID: 1569470

Question Type: | MCQ




Question: Q08 2L AFIE A AT 7F) § 629 ;
NO, N,0, B,03, N,0s, CO, SO;. P40,

A: 3

B: 4

C: 5

D: 6

Topic: Chemistry-Section A

Iltem No: 71

Question ID: 1569471

Question Type: | MCQ

FINGS 299 AFR YOT9 9B 631S4IR FOw 971 6293

Question:
A: [Ni(en);]*". B : [Ni(NH;)6]*". C : [Ni(H,0)6]*
A: C<B<A
B: B<(C<A
C: C<A<B
D: A<C<B
Topic: Chemistry-Section A
Item No: 72

Question ID: 1569472

Question Type: | MCQ

a8 1q Ae 11 9@ de

Q81 SER
P (=T I SRl
B. &eflaiae II. 9% @169
Question:
C GelFe IT1. ﬂ@@ﬂ@@@ gwie
D. 61596 AEQiae IV, dlIe @lda

Q¢ IR F1UQ 90K QA9 919G :

A-IL. B-III. C-IV, D-I

A-TV, B-IIL. C-II. D-I

A-IIL B-I1. C-1. D-IV

OlQ|w >

A-TIL B-II. C-IV. D-1




Topic: Chemistry-Section A
Item No: 73

Question ID: 1569473

Question Type: | MCQ

@¢] 9oaYl 9 ¢S R4 6298

Question:
4\“/0\/:\} 2 HBr
O
Br
)\I‘I/O\/\/Br
A:
O
Br Br
B: /j\l]/)\/\
9]
Br Br
C: \/ﬁ.]/('\/\/
O
Br
D: Br \/\r(a\/\
O
Topic: Chemistry-Section A
Item No: 74
Question ID: 1569474
Question Type: | MCQ

@¢] 9oTal | g8l egle § @' ?

Question: g o
H-0
O
(8]
A:
1-1)J><§/
O OH

B:




C:

H

0O

D:

H /L%
Topic: Chemistry-Section A
Item No: 75
Question ID: 1569475
Question Type: | MCQ

FORYe qeg e 9F Agat] 2ITe F57169 TG |
OH OH

OH OH
3, 0.0
NO,

Question:
OCH,
(A) (B) (C) (D)
A: AB=C=D
B: B=A=C=>=>D
C: D>=C>A=>B
D: D>C>=B=A
Topic: Chemistry-Section A
Iltem No: 76
Question ID: 1569476
Question Type: | MCQ
A F
. CH;— CHy— CN CH3MgBr A H30" B Zn—Hg

Question: Ether HCI

C 2 909 2°99R| 62RE:
A: CH3—CH2—CH2—CH3

1§

B: [

CH3 — CHy —C— CHjy

OH

C: |

CH3z — CHy — CH - CH;j
D: CH3 —CHj —CH =CH>

Topic:

Chemistry-Section A




Item No: 77
Question ID: 1569477
Question Type: | MCQ
aemge q dol:
a8 I s n
Qgee GlRRIge faa
A Qlpms 6.6 L QI
Question: B @fl 05% 6 9989 II @R8q Q48
C. Elt)s 60 o 9@yns I11. 949 @06 amIe!
D. 69GE IV. 68iwmall
Q¢ IR F1UQ 90K QA9 918G :
A: AL B-IL. C-IV, D-II
B: A-IIL B-IV. C-1. D-11
C: A-IL B-I, C-IV, D-III
D: A-IL B-IV, C-I. D-III
Topic: Chemistry-Section A
Item No: 78
Question ID: 1569478
Question Type: | MCQ

Question: a-gewiw @ C1499° p-geqiaa C2 o6 gl A%6disl g jgeq eQslidig :
A: Flmeeis

B qeqis

C: mlew

D “Llmemis

Topic: Chemistry-Section A

Item No: 79

Question ID: 1569479

Question Type: | MCQ

Question: @8 Ba Uow @ 992 4% 2IF 2AGY AIFEE ABETREIT | T 99 q GRIAN ;
A PIHe 9
B: I6RERaR 9%




C: @eeeTm a9

D: BSte 9

Topic: Chemistry-Section A
Item No: 80

Question ID: 1569480

Question Type: | MCQ

Question: ClElm 260 YEEI69 2ABYFE UL FI0R eudig 29 :
guEenlale 2Rl

B: 6E6CERILINTD 2RIA

C: ETAGE BRI

D: 6QEe 2R

Topic: Chemistry-Section B

Item No: 81

Question ID: 1569481

Question Type:

Numeric Answer

56.0 L QI96TIeRs 6I9 § 2y« 2Inegisas 486 Taiand e 6esIuing 62 20 L

Question: - i i
aisFeal gid g4 62Ing | AYYe FIuSgewn o 2k 6898 _ L |

Topic: Chemistry-Section B

Item No: 82

Question ID: 1569482

Question Type:

Numeric Answer

2 dm® 6191 gl e @2 (3R) T 62 11 g 691606 SN2 21F | 93 g9 § 962 ga9
6Q 93 919 2 MPa 629, <8l TIS9Q | % g/a ¢ TITQIa Sl0aIgl 6268 e

Question: | [Faeen gd 2o ]
(9e@: R =83 IK ! mol'!). C ¥&° H @ 0eslaae 928 6268 delged 12u9e° lu
I(69I6T% 2IGsl SNIF OF QIQTIQ V63 6QIM UATA)

Topic: Chemistry-Section B

Item No: 83

Question ID: 1569483

Question Type:

Numeric Answer

Question:

H d99lig @ n = 5 63 g9 26053 DEAYE 6K609696 40T Bag 6164 .
60BIFIRE ALY AH 6 9LRFERS gOR 6208 |




Topic:

Chemistry-Section B

Item No:

84

Question ID:

1569484

Question Type:

Numeric Answer

GIOGEe QeE aRIease e 88 f7] Od469Sd g@ 6ol |
HCI + NaOH — NaCl + H,O AH=-57.3 kJ mol™!

Question: CH;COOH + NaOH — CH;COONa + H,0 AH =—55.3 kI mol'!
g1g glal #219 @alKIngel CH;COOH @ 2l6aifissads Iaalnd 6298
kI mol ! |
Topic: Chemistry-Section B
Iltem No: 85
Question ID: 1569485

Question Type:

Numeric Answer

<@ gas g6 9oFel 16aIFeaaa (Azomethane) FEISE T .
CH;N,CHj3(g) — CH;CH;(g) +Ny(g)
600 K 66 2I°s@ Q199 990 9¢g 986 EAa aIdes

Slope =— 3.465 = 10*

Question:

In L]

pl
t's

2 gega @ 2918 6298 x 107 | [Geeeq gd 2°q]
Topic: Chemistry-Section B
Item No: 86
Question ID: 1569486

Question Type:

Numeric Answer

Xe0;. XeOF,; \19° XeF @ 690 Qa51ig) 9Ea6% 2ol IaI91 6011 a6ag0 4099

Question: = 5

YTTE SHEE I
Topic: Chemistry-Section B
Item No: 87
Question ID: 1569487




Question Type:

Numeric Answer

Cr?7/Cr?™, Mn® " /Mn?™, Fe¥/Fe?™ \98° Co’7/Co?™ aiag M 2lae @ 6wen 39

Question: gae1a 21gd Q gRY AILIA A1 Igied a9 Igeias. 6268 _ B.M | [Gecer
g @]

Topic: Chemistry-Section B

Item No: 88

Question ID: | 1569488

Question Type:

Numeric Answer

@ 2R F8RIZIRGR AMETIZR (R-OH) @ 4.5 mg @gRI6a felda cuiseadas

Question: 2legielee Asisnl | e g9 QIZIEN AI2ig A°Ye *9 6I'A 2Ies 3.1 mL aaeq
| 2RI ANERITR R 2EIR G} 6298 g/mol |

Topic: Chemistry-Section B

Item No: 89

Question ID: | 1569489

Question Type:

Numeric Answer

‘Q:EI@ Wil @lola @'ﬂ@ﬁl‘éﬂ?ﬂ 19l emell @aleiml | @Iew g9, qer Ae° ad B 1@

Question: 681G DeIFSF 3.25 cm. 2.08 em 1&° 1.05 cm 0617 SIRGISA | A. B 1168 Ry
RS 2GS 6208 | (Fesen gd a°sMI)

Topic: Chemistry-Section B

Item No: 90

Question ID: | 1569490

Question Type:

Numeric Answer

Question:

CsHy, 219a8® 260 g1 e AINETH Q G106 FIERIEERsE0E 6 A72 A3yl 6208
| (Feoes gd are)




